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Q.1 FafafEa usr # Ry g el § @ 6 areg ot gfAgl
o o e ?
Ans  of 1 gard wE
X 2. Tew
X 33w

X 4. anh

Question ID : 54592712532 ]

Q.2 ue fafre shte wrar 7, ‘Cake is black’ @kt ‘4 5 7' forar SI1dT 8, ‘Black are colour’ @kt ‘3 2 4’ foram
SITAT &, ‘Colour are simple’ &1 ‘3 8 2’ for@r SITAT §1 59 Bl WTT H ‘Sheh’ oAl hiS T &7

Ans  of 1 5a17

K 2.7
X 35
X 4.4
Question ID : 54592712536 ]
Q.3 f=fafae vsr d Ry 7y et 9 @ H@afda e g &t gfAgl
T a9 ?
Ans }( 1. : 3R
X 2. aefa : emaa
of 3. e g-aTR
/X 4. Reae : we
Question ID : 54592712531 ]

Q.4 dra ARl & Yeh g |, S3 HaH BSleT & STafh S2 §ad & g1 S7, S5 & owa & wfehT S6 &
BIeT 1 Tg H TR Gast ova Afwh S6 &1 S5, S3 & ova @ Afeh S1 & oter 81 ayg & ot
TR Ster aafth S4 &1 S1, S7 & wwen g1 foha= =ufwh S4 @ &t &2




Ans X" 1.4
K 2.2
W35
X 43

Question ID : 54592712541

Q.5 F=fofRe ereal i silsht regenler # o= aret v & SigaR fod|

1. Federate
2. Federals
3. Federary
4. Fedexing
5. Fedayeen

Ans X 151342
o 252314

/X 3.52134
/X 4.52341

Question ID : 54592712526

Q.6 =Yg, Fyeher, Trfgd, franr ofk Fan uta g &1 s, aifge & S8 81 goher, Sar @ ster g Afd
ek @ arer 81 ST Terst Bt g1 31 uig Gl # & gvT 99 Sier & 82

Ans X1 g
/X 2 aifee
o 3. i
75 4 g

Question ID : 54592712537

Q.7 fFr=fafae usr | Ry 7y fReveal d & faww sz 6t gfgl
Ans x1@g

X 2 i

o 3

P

Question ID : 54592712529

Q.8 fAmfafae v d Ry 1y Rereat § @ H@&fda sier gm ot gfAgl
ABKL : FGPQ :: ?
Ans X" 1 RSAB:WXNO
75 2.PRST:TSAB
75 3. HIJK: ABCD

o 4 GHLM:LMQR

Question ID : 54592712533

Q.9 A Ruwg usr &, =R s1erR g Ry 1y &1 () & arff ok 33 T4 s1er () & arfl ok A M srer
Q foreft adh/Ran/ddy @ 96fiq g1 = 3t vas ad/Ram/ddy & enur R 99 g1 g e




Ans

Forareat & & from = gfT)
/5 1.KLMN : PQRS
75 2. ABCD : FGHI
75 3.NPRT : SUWY

o 4. 0QRT : TUWY

Question ID : 54592712530

Q.10 = 3y 7T usr # o FUA iR IT9F a1E I HUAT WR TR Fo fFArswef fg o 1 Ry g

Ans

HYAT I TE 7R, AR ITH GHT TG a2t G fA=7ar g Tt s ue efiz fr RrafRa &

g g = | Fsrdd, R g s & suR wR gieeTa &1

HY:
1. goft e AST €1

Il. TS e HiAT &1

e
|. 5 AT FeA &1
II. e FHat s &

£ 1. et Freh |1 STERoT el 8
75 2. Shae i | SERT ST @
o 3. 3 forsamd | e 11 srgeRon awd 8
75 4. oft e argRor el ahear @

Question ID : 54592712542

Q.11 Qe 3igerd fam man 8, foiwd | ues ug 7era 81 g e fRreredt & @ 39 e ug &t gfAgi

Ans

AH, DK, GN, JR

75 1.GN
/X 2. AH
W 3 R
/X 4.DK

Question ID : 54592712527

Q.12 = Ry g usr A 5 FUA 3R I9F 1% I HUAT WR TR Fo frsnd g g 1 g g

Ans

HYAT Sl TE AR, AR ITH G AT a1 @ fAFar g gft fAserd ue eiiz o RafRa &2

g g @ | FAserd, R g syl & smuR wR giheiTa &)

Ca:CH

L&, Qg 81
.t Q, Mgl

.M, LTl

forsenf:

L. &L Q& &1
I.F5Q, L&l

. L Mgl

#< 1. Sharer Frehe |1 STERoT el 8
75 2. harer e |11 SgER0T AT @
25 3. 2T Frsene |1 o 11] SrgeRor awa &
o 4. 3 fred | e ) srgeRr R @




l Question ID : 54592712543

Q.13 B,CHiagTg1 A, BT WE &1 E, D hr sz 81D, B w1 YA g1 E, A ¥ &t Haifdrar 82
Ans X" 1 st

o 2. st

X 3.7

X 4l

Question ID : 54592712539

Q.14 afe ‘W st arf '+, ‘X ahr 31ef ‘', ‘Y T 4k '+ qUT‘'Z w1 3rf '~ @, A6 YAX72W 18X 27 W
9Y4Z18=2

Ans  of 1 40
75 2.60
/X 3.48
/< 4.56

Question ID : 54592712544

Q.15 =: a&fwh Y1, Y2, Y3, Y4, Y5 3R Y6 dhvs it 3R 7 ohch Teh gaITehRR A5T & 36 - RS a3 1 Y2,
Y5 & arff ok fiwRT 21 Y3, Y1 & arfi ek e 81 Y1 3R Y5 & oftar &t ShaeT Y6 ST 21 Y4, Y6
& ardi 3R TR &1 Y6, Y5 & e o ofiR 7 &1 Feafeiae 8 @ o an/a e wgt 8782

1. Y5, Y6 & gia arfi sk da1 81
II. Y4, Y5 & arft 3R gERT 81

. Y2, Y1 & g ereff stk dat1 81
IV. Y1, Y6 & e arff iR daT1 81

Ans X 13RIl

o 2 1R

X 3 nsiRIv
X 4. eIl

Question ID : 54592712540

Q.16 ek fafare sl wmar &, ‘ENVY’ &1 60’ foram STt &, ‘FACE’ <kt ‘9’ forar Sirar @1 39 shts v &
‘FOUL <hT hiS aRIT &7

Ans 3" 140
K 2.43
o 348
75 446

Question ID : 54592712535

Q.17 fAafaf@a ue d Ry 1o Rt & 9 fRow srer/eiert w gl
Ans  of 1 BDG

/< 2.0RU

/X 3.Psv

/X 4.ADG




l Question ID : 54592712528

Q.18 A T R B &T SR[AT &1 B T YR C T A1 o<1 AT &1 C T WR D ohT TN &1 D T WR E T AT
g1 R=fofEa & @ &9 91 R 9o oha ol gefar g?

Ans X 1.CEAB,D,

o 2.CDBEA
/X 3.C,DEAB
/X 4.C,ADBE

Question ID : 54592712538

Q.19 Qe 3rgeRd e man &, e & gas ug era 81 Ry ¢ fReredt & & 39 7eid ug @&t gFg)

WYCD, TUXX, QRSR, NMNL
Ans X" 1 wyCD

75 2. TUXX
o 3. QRrSR
75 4. NMNL

Question ID : 54592712525

Q.20 Qe fafre &te v &, ‘g’ ol ' WiRT et SITeT 8, ' HiAT Sl THTE’ T ST 8, HHIE’ St

Ans JTW
X 28
p R
X 4. wETa

Question ID : 54592712534

Section : Mental Ability2

Q.1 () Farft ok & weft 3t st foreht aeh/ o/ wey & Hafia &I RA R R 9 () F
ErfY 3k T ach/ram/ssiy wR smeRe o stepfa w gfAa

@ : @@ :|
@
Xz:@

Ans




Question ID : 54592712560

Q.2 A it IR ATHIA e rpfar & ufasu w) grr wfi?

Ans

Question ID : 54592712562

Q.3 & eht amepfy 7 e wrqefer &2

Ans

2511
K22
75 3.4
W 43

Question ID : 54592712564

Q.4 fF=fafda s 4, g w1 el & & o stefa &t gfAg)

Ans

v

< 2




xo| &

Question ID : 54592712558

Q.5 I i IR SrTepfa e e & ufasu Y grr wAA?
Al

o

7

Ans

-
s
o>
V| o
¥

x4 R

Question ID : 54592712559

Q.6 Ueh TSh! 31U Thel & STRY e g AT &fSyor Y 31 8 foh.+ft. el &1 a5 g gedfi g aun 8
R, el 1 g E1d geeft @ aur 8 foh.sft. el @1 ag siaa: a1¢ gt & aur 23 fh.H. st &1
ag MU Thet @ fha R iR fra Ram & @2

Ans X" 1. v481 R, zfarr - o
of 2. v481 f3f, zfRror - ofam
#< 3.v461 Y, ol - ufgm
75 4.v461 R, af@or - gd

Question ID : 54592712557

Q.7 fF=fafaa s d & 7 simen d & qu sis 710 FHifsg)
6,11,23,45,91,?
Ans X" 1 148
/X 2.180
75 3.186




of 4181

Question ID : 54592712549

Q.8 fF=fafda us d & 7 simen d & qu s 710 FifSigl

11, 42,93, 164, 255, 2
Ans & 1.372

o 2366
75 3.406
/X 4.29

Question ID : 54592712548

Q.9 3§ IRE gfg st AR Ry g ant & fra & Hee wr ag Feuor w=ar g1

x:|(0)o

Ans

v

o
x:|(@
@D

X 4

Question ID : 54592712554

Q.10 Tfe ‘A &1 31 =, ‘B’ okt 312 ‘%', ‘C’ &1 31 ‘+’ quT ‘D’ hr 3 —' g, A¥45A15C 153 A17B3C
7D19=2?

Ans X" 128
/X 2.36
X 316
o 418

Question ID : 54592712545

Q.11 F=faf@a usr d Ry 7o el # 9 i den w gfhgl

46:232::58:7?
Ans X" 1 448

W 2.537
/X 3.39%
75 4.658




l Question ID : 54592712552

Q.12 af ek gdor Rt AB ¥@T 0= @1 ST, At & 1S IR Strepforal | & el o srepfar ust eimepfar
=g ufafeda ghfi?

Ans c
Kb
3
w2
<2 |
(=R
. c
< 3 |b X4
<
g
v i [b
3

Question ID : 54592712561

Q.13 F=fafEa usr | Ry g Reedl 7 9 H&6fa de w ghg)

347:2206 :: 568 : ?
Ans X" 14989

/< 2.3369
X 3.4721
of 4 4619

Question ID : 54592712546

Q.14 & 7$ srrpfar &, fre=t <+ sITuri € R snifars =i 82

Ans X112




Question ID : 54592712555

Q.15 3mer foig P & 20 e gd i 3k Tereit & | fve a8 31} gaeit @ ok 15 e g« g1 a8 g: ad

et & 3k 20 Fie geredt @1 amem foig P & orar fohasii gy 82
Ans  of 1 155

X 2128
X 3.13%k
X 417 de

Question ID : 54592712556

Q.16 fA=faf@a usr d Ry 1q Rt # @ H&4fda g &t gl
987:168::837:?
Ans X" 1110
X 2.225
W 3101
X 4.9

Question ID : 54592712547

Q.17 & 7 IR srrpfaal A § 9 IR S1epfa ol gAY [ # et enpfa Afga 81

&

Ans

Question ID : 54592712563

Q.18 = Ry g wer A, R T g Ry g €1 (-) & ardt ek & 71 e (-) & Erft ok & Heen

Q foredt adh/Ran/ddy @ 9«6faq g1 = 3t var ad/Ram/ddy & snur w99 g1 g e
Rrepeat & 9 faww &t gl

Ans  of 134511
/X 2.329-14
/X 3.846 - 18




/X 4.367-16

Question ID : 54592712553

Q.19 FafafEa usr d & 7€ sjgen 7 @ @ sies 7@ HfSQ)

3,10, 31,94, 283,?
Ans X' 1697

/X 2.861
o 3.850
/X 4.881

Question ID : 54592712550

Q.20 Fr=fafEa usr & Ry g el 7 9 H&6fa den & gfhgl
864:58::376:?
Ans  of 1 47
75 2.6
75 3.54
75 4.29

Question ID : 54592712551

Section : General Awareness1

Q.1 F=fafRa 7 @ s g urpfas i awr & wu d wrf @war 82
Ans X1

X 2. R ot @ o
o 3. 357 s ot aren O
75 4. qa & arer T

Question ID : 54592712573

Q.2 WRA H Hehdl U] IATE & UReher & g ffaf@a § @ o Iwrerft 82
Ans X1 st ford d

25 2. iy s

W 3. 3 iR sl

25 4. v g wdeqon shraferm

Question ID : 54592712571

Q.3 Hehel ©Re], SUTE adHT Taford HAd] IR Hehel TR IeUTE &l I g1
Ans  of 1 Tt

5 2. gum

X 3. @R

75 4. arsfes




Question ID : 54592712570

Q.4

Ans

fore R it @t A foraT woe 6l ScuTEsar seM & fog 3w Iust foher (HYV) & i,
ATk IRehT, ReATreh! STfe 1 IuThT v &2

1. arforfSaes @t
II. urRf¥rer SEft
. Rafz @

p il
o 2 &=

/X 3@
X 4. Fawll

Question ID : 54592712584

Q.5
Ans

Freafafea d @ e & 98 offm i sk ag<dt 87
X 1.gwn
X 2.7im
of 3. andt

75 4. e

Question ID : 54592712582

Q.6

Ans

Toie uTe ! R=fafaa d @ fora fafYy grr fa=aifta faran s gerar 22

1. T
Il. IUR
1. 3z STU=T

X i@
25 2. @i
/X 3@
o 4 L@

Question ID : 54592712569

Q.7
Ans

a8l
25 1. T € S & 62 RR G 7 RR 0R FoAT e rTeRoT
25 2. QU AT TR FHT 1 S aRel TR AROT
o 3. 75 & 31T & RR @ 2 R IR S &1 wraReT
£< 4. THA ATowT a1 @ fiie & s ST oh AR

Question ID : 54592712574

Q.8
Ans

Frafafaa 9 @ o9 @ e g @i 6 wud T8 8?2
VAR o
X 2.wr
/X 3. mam
X 4 TR




Question ID : 54592712583

Q.9 f=fafle d & w9 a1 Tva-wle T &1 g gl 781 82

|. HgRTY - wraoft
11.af9w Sred - Sy
1. f3aTeret udar - it
IV.31iST U2T - ShieTgH

Ans X1V
o 2
p A
K4

Question ID : 54592712565

Q.10 #THa R HT g W AT af Ima A d A g adie, 2
ane X 1.

X 2%

7< 3. gt

o 4 s

Question ID : 54592712576

Q.11 f=afaf@a & & o1 a1 s srfia auf & Iufera =i glar 8?2
Ans X 1. gewgRen o

o 2. wffifE s

/X 3. whreiifen s

/X 4. AT et

Question ID : 54592712572

Q.12 w7l ZRT taf & TETH0T & HEY shH T T HL|
A - wuf ueg , B - AfEIs, C - SiiaR wHof
Ans X' 1.C-B-A
X 2A-B-C
o 3A-c-B
X 4B-A-C

Question ID : 54592712577

Q.13 “d=m” g foha g | g1 8?
Ans X1 g

o 2 &=

/X 3. emw

X 4 IR

Question ID : 54592712567




Q.14 UgAT HgeaTd _____ & A1 § ST STt gl
Ans X 1w

W 2. s

< 3. g g

X 4 =i

Question ID : 54592712578

Q.15 g R 7 &t faeaa & 'Rt @« & 9w @ s s &2
Ans X1W

X 2.+

o 3. Ry

X 4 e

Question ID : 54592712581

Q.16 Gfed= Eoi$w ol aftha A & fog aTal & s & i AT e e glaT &2
Ans X | gerIRe I

/X 2. AT et

(3.@3@3@&%%

/X 4. wwies e

Question ID : 54592712579

Q.17 fA=faf@a & @ &9 @ wRee foreh Tur Y sE ot wafada a=a &2

1. STeraTyg
II. seReYE gRemd
Il. Ty Qard

Ans X1 il qer

o 2 L@
25 3. nawri
X 4@

Question ID : 54592712580

Q.18 AR-Iuddga_____ A«
Ans x 1. @1t

X 2. et
X 3. =it
o 4 ofw

Question ID : 54592712566

Q.19 gars STgreil Sk ATal vt Y smerrR feam Sirar 21 397 v & fia fafaf@a A @ a9 sror
Tda?




1. Sif o1 JHET HH HRATI
Il. Za-31 aefor & eI

Ans X1 vt iararl
F A

of 3 &=

/X 4. e |

Question ID : 54592712575

Q.20 “ATegisiar” [ Agiead fohd Iea | smaifSia farar s 82
Ans X" 1 oy R

/X 2. rerenrn

3. R

X 4w

Question ID : 54592712568

Section : General Awareness2

Q.1 WRA & AgraTgar} & Fgfes e #ar g?
Ans X" 1. it @ sreme

X 2. e

o 3 apof

X 4 sl

Question ID : 54592712601

Q.2 fre s &t FFdis YRERR 2018 & FwATfAa favar mar g2
Ans X" 1. faforw SeRme

o 2. sifiama ey

75 3. i e

/X 4. wETe ggheTs

Question ID : 54592712593

Q.3 'famafEar voneh &, et &t eroeft R Sia o R e fr Deft anwet @it o
Ans  of 1.3/20

X 2.1/10

X 3.7/20

X 4.1/20

Question ID : 54592712591

Q.4 rh fR=faf@a d§ @ wra & fFa g & ImE s 82
Ans X 1. o




75 2. gRamon
X 3. R
W 4 e

Question ID : 54592712585

Q.5 F=fafRe aemeil d @ @i SRreT ST @ T 8?
Ans  of 1 s
75 2. SElar e
/X 3. 3 arfia Rig
/X 4. g3 geft @i
Question ID : 54592712586
Q.6 2018 # aificifiier TRWR ___ WRd Fl ugel SISt uges fasiar st
Ans o 1. ofrom qaTeht 3
75 2. dam
/X 3. o R geferet
X 4 Rarem
Question ID : 54592712604
Q.7 _____ ¥Ra-Teaw d vt sft 2019 UM et uge giasie} gl
Ans X" 1 Sifer Hiee
75 2. 5 ot aifefer
25 3. e RO Burd)
of 4. TR TR
Question ID : 54592712597
Q.8 _____ 1893 # #gRIY # 7urafa Iqa Y rFaa fi
Ans X 1. mgrem el

o 2. st TR e
25 3. sifhm <iz wgiweATg
/X 4. RS i

Question ID : 54592712590

Q.9
Ans

farey wife qerkaroht AR 2018 & omitfra &1 s oty
X 1a
¥ SRH
p R
X a4

Question ID : 54592712603




Q.10 T @A Ud $u SIgEY SEAH fhd Ieg d e @7
Ans x 1. TERTE

W 2. s

X 3. IRrEe

75 4. sy e

Question ID : 54592712592

Q.11 '999R &d A=afaf@a # @ forg wrar= & a=h O7
Ans B 1 gwm

75 2. sm@n

o 3@

/X 4. sy

Question ID : 54592712587

Q.12 7@ W 3 el e sTiew, =i 3 @ et enf @ v &2
Ans  of 1 g et

75 2 agdud

/X 3. Reg wf

25 4

Question ID : 54592712589

Q.13 fA=fafaa 4 @ fFa yrdig d@faum & 12 & ddurfae g sifdfAae & arew @ siermn
a7

Ans X 1 ggadt
X 2. fsia
/X 3. Rifgwm
o 4 TR

Question ID : 54592712599

Q.14 Isa A adae e A fARRa gl
Ans o 1 T

/X 2. g

/X 3. yarEsh

/X 4. Iwrgata

Question ID : 54592712600

Q.15 2019 # 7 ffie Aeist &l GRT e areft uuw Afgen s d).qH. ifdert &= &2
Ans  off 1 auf gER

X 2. orefr e

/X 3. Rmen A

X 4. S gen




Question ID : 54592712594

Q.16 Wt sfeargu w2019 _____ d g o
Ans «1110}

X 2. 7 Rt

X g

/X 4. wrererdn

Question ID : 54592712602

Q.17 §¥E &1 sieRfdia Raw _____ &l #=man sman @1
Ans X' 1 305

X 22757

X 3277

of 4307

Question ID : 54592712596

Q.18 2019 # "I A # Scpe FrfAa amifeie el (IHt.gw.9mR.) & fog ffa @t @@t
IEafa RERR fAer?

Ans X" 1. 3ere uee UTeR shiuRe foifie
o 2. dv v R do Rifts
X 3. e arifRet it s fifives
X 4. e gegfam G e

Question ID : 54592712595

Q.19 sfieruen @ gg fRu fe ifeardmft ok ____ & gamam
Ans X" 1 sre wid

X 2.z wmrSy

X 3. @ uia

W 2 AR ams

Question ID : 54592712588

Q.20 rsgura Y Fgfs & forg ~graw emg o 87
Ans X" 1 30a

X 2.259d

o 3350

X 4299

Question ID : 54592712598

Section : Arithmetic Ability1




Q.1 J =138 T 16.67 Ufdrd 441 G = 232 &1 12.5 ufasd g1 AEfaf@a d sl araw &2
Ans  of 1 J-G-6

75 2.0=0756

/X 3.J=096

K 4J=6-4

Question ID : 54592712620

Q2 42+9x6x{3+4-(9%4+8—6+2)) A FTE?
Ans X" 1.743/2

< 2.641/2
o 3393
X 4.352

Question ID : 54592712610

Q.3 fa=faf@a d @ o= 9v/a sy 98 /872

1. 41651434, 2, 4, 6 1 8 ¥ fawrsT 21
1. 39148762, 3, 6, 9 9T 12 @ fasrsa &1
1l. 86413296, 2, 3, 6 4uT 11 & fAwTST &1

Ans X1
o 2 7 e
p N
K4
Question ID : 54592712609
Q.4

3.61 +4/0.49

f1.21 +/1.69

Ans X" 1.1/3
X 2.1/6
o 3.13/12
X 4.2/5

FT AT 4T 87

Question ID : 54592712606

Q.5 I>¥M, NI 50 ufdrd AfAFEauTN, PR 20 ufaa wa &, at M : P sn &2
Ans X' 1.3:5

K 2.3:2

o365

K 47:4

Question ID : 54592712619

Q.6 a¥g M T K ol shd G AT &1 a5 M <Rt 40 ufaiera & w137 uR <= m 81 awg K &t 40




ufdera Y g1 R =1 R &1 avg K 1 faska 3o 7800 wu @1 avg M o1 fasha 1w 87
Ans  of 1 18200 zTd
#< 2.19600 7@
/< 3.21300 30
75 4.18800 3w

Question ID : 54592712622

Q.7 WU TS UFTHS G G131l 1 ad <ar ghm?

Ans o 10
K27
X 35
Koan

Question ID : 54592712615

Q.8 K, 13, 4 auT 8 @ RAwifSa 7 iR s feufa & Awther 3 Bledar &1 K &1 7191 2T g1 TehdT 82

1. 1979

1. 2915
lll. 3955
IV. 5257

Ans o 1 10100
X 2. 1@
K 3V

X 4@V

Question ID : 54592712611

Q.9 i sFATTA UTehfaeh HEATSHl & Goh A o1 SHd 19 §1 3179 UTd AT Wichfieh SEarati &
Qoh 9= 1 3ia 34 g1 Ry g g+ aeaal # a9 ot demnsit @ g @ 82

Ans " 158
/X 2.54
o 3.56
/X 4.62

Question ID : 54592712617

Q.10 TSI 7 40 &<i 9f¥et 55 Tud ufel goi 6 ar § @& 397 25 Foi 40 ufderd & @1 R S=h
aUT A9 15 i 60 UfAra & w14 U= | IHHT Fel w1 ufaird ar g?

Ans X" 1325 ufdsmE
75 2. 35 uf@
o 3. 475 vfea
75 4. 55 f@

Question ID : 54592712623

Q.11 afe foreht Tw=ar & 65 ufasra & @ 96 gerar SITg, at afRurmT 112 17T &1 TEdT <l |41 T 872
Ans X 1360




/X 2.280
/X 3.340
o 4320

Question ID : 54592712618

Q.12 A1, A2 ST A3 T 3fJUTd shH2N: 2 : 3 : 4 &1 afg 3T ahT 108 &, dt A1 auT A3 & Heg 3ier &
8?7

Ans  of 1 24
K 2.20
75 3.16
X 4.28

Question ID : 54592712624

Q13 (0.5)°+(025)+(0.14)’ +(0.02)+(0.9)" + (0.03) + (024)* + (0.02)’ FT AT =TT &2

Ans X" 1.170.5072
75 2.175.5126
o 3.166.5072

75 4.185.5126

Question ID : 54592712612

Q.14 ek a%] 31 359 o TUT feRa e shA: 400 T0d a7 320 3 1 $9 a%g W §E 1 &1 57
T | T ST 8?7

Ans X 1.4:1
K 2.5:1
W35
K414

Question ID : 54592712621

Q.15 1 70 aeh et Ty &, wit 9 & frvrea @2
Ans X1-9

X 26

W37

X a8

Question ID : 54592712605

Q.16
e A= E_1+E,B=E
16 6 8 2

Ans X 1.161/17

/X 2.277/34

/X 3.193/17

a

(=Nl

gamc=§x%+g%,a‘r{A+B)+Ca:rmamT%‘?




o 225934

Question ID : 54592712613

Q.17
g A= %+%+i P e

12 20 30 42
Ans X" 107214

o 206567
7% 3.0.6916
/X 405118

ar (A+B+C) & AT FT 2

Question ID : 54592712608

Q.18 Ueh a¥g UR 12 ufard &Y Fe 37 & ugTd, JA-IsT ol 56 ufaera 6 g1 gt 81 alk ;g asg mspa

T 250 U g, dt 3 a%] o1 Sifhe g o @7

Ans X" 113530
X 2.145%53
/X 3.175%5@
o 4 125%

Question ID : 54592712616

Q.19 afy A = (7/8), (6/5), (9/2) =T HgwH THTUaIh dAT B = (2/5), (3/10) T ALwH THIGH g, at

(A + B) T |19 aRIT &2
Ans  of 1 49/40
75 2.39/40
/X 3.47/40
75 4.27/40

Question ID : 54592712614

Q.20 3 UHR & A &1 3 UhRI & Gl hl HEAT sHAAM: 1044, 1247 du1 348 §1 Gl i Terewdl 9 59

"R gt T § o e e 7 2 R & gt 1 e 2 gl af v Tees d awe
AT A G g aUT U s | G Sifdehad 8, af Terawal i T am 8?

Ans  of 1 01
X 2.81
7% 3.87
/X 4.85

Question ID : 54592712607

Section : Arithmetic Ability2

Q.1 Tk ¥enmr<l i afq 99 fak. ft./eier &1 afe Yot i e 580 Hier &, at ag 1180 Hier e
ek il fohawt w9 J qR1 UR o @ fi?

Ans X" 156 davs
75 2.81 dwvs




/X 3.38dmwvs
of 4 643avs

Question ID : 54592712630

Q.2 U Eae! urg Fi MR i Y arg] aur 3id: Hoar smasn: 6 A.ft aur 4 daft. g1 g o
3T /T 8?

e 13,57&(’}113”5‘,r2
v 13376 5o
x5 14166 o o)
x o 11276 5 o)
Question ID : 54592712638
Q.3

T oI doie $ Biear 21 WAL T 3§ 39 30
T B 10 T 9fy @ Fr g7 O 395 9% 756
P [ FH Aed FT 57

Ans X" 142800 T

o 239600 zm@

/< 3.36800 30
75 444200 30

Question ID : 54592712636

Q.4 25000 FU ht 2 YAT & FIUROT =TT U= Faer forar a1 ges ¥t ept 12 ufderd ufd adf R R w®
Fder fram mam & aur gER v R 18 ufara ufa o 6 &= = e forar wan g1 af 3 af @1 e
=TSt 11700 SR g, &t 2 WWN <kt |1 T &2

Ans o 1.10000 7, 15000 w7
75 2.8000 U@, 17000 Fu&
75 3.14000 ¥, 11000 37
75 4.12000 ¥, 13000 TG

Question ID : 54592712628

Q.5 A dUT g 1Y AT Uk i ht 24 &7 & & opa &1 ST Y Ggraar @ ag st ek &l 20
& & e Tepa €1 AT erchett ST & R foha™! f & e Tepar 82

Ans  of 1120
/< 2.60
/X 3.80
X 4.90




Question ID : 54592712633

Q.6 Tk 640 Hiex vl TSt RAudia Ram & 9« @ g gou &l 10 Sohvs & UR & &<t g1 afk
Yot Y i g Y w1fa i 3 771 B, At I i vf w2

Ans X" 1.120.6 fon s /e
75 2.114.8 Rt /ser
/X 3.148.4 Rt er
o 21728 f5sh/ge

Question ID : 54592712632

Q.7 AU Frd & afafea 5 92 & #et g 8 & d g o= Aar &1 B 3¢ o ot wfafea 4 o ek
& gQ 15 R d g o ot 81 af ag ufafem 6 ° ar &k &ved €, at ok foret R A g &t
SITEm?

Ans X1 47
K 2.3%
X 33
v W

Question ID : 54592712634

Q.8 U ufeh fReeelt @ R 120 5. Y. /eier Y nfar @ Sirar @1 ag emRT A feseht x for. . /der :y nfa
Q@ I 14T 21 afe IR sftaa fa 1200/17 foh. . /€ &, af x <1 |71 <R @2

Ans  off 150 53t /e
25 2. 60 feh.#ft /eie
/X 3. 45 el /sier
25 4. 40 fe.oft /eie

Question ID : 54592712631

Q.9 21000 F9A 3 auf & 9450 T HTLRUT ATST 3 ¢ | ufay af =arst hY <= sFar 82
Ans X" 1 18 yfara

75 2. 12y
/X 3.16 ufaza
o 4 150

Question ID : 54592712627

Q.10 50000 ¥U =} Tehefeg SATST UR I@T ST &1 afe sarst i &x 8 ufaera ufa adf (a1fifes Tater T wR)
g, @t 3 avf ep1 =aTsT T g e

Ans  off 1120856 v
/X 2.11845.4 303
/X 3.13408.2 30
75 4.12485.6 30

Question ID : 54592712629




Q.11 == fear man ¥ R gas fava 7 A asfaal R ure sil ot gufar g1

100 1 97
4 93

95 91

Q0 -
54

E 8s 87 86

80 -

75 : . . . . y
Gl G2 G3 G4 G5 G6

wefEat

TS G2 ZRT YT 3ieh Tt 6 FsSfhal ZRT U Fed iehl o fohat ufaizra &2
Ans X" 1.26.91 ufRe
75 2.11.91 ufdera
o 3.16.91 vfiea
/X 4.5.91 e

Question ID : 54592712644

Q.12 = R mar = R fAfw= 221t @ arvmea w9 are fRfRwat Y e @t gafar g1 g e
331 § arvTHEd ST aret A3 fA i T &, arsee S are R fir e dwear & ufae
& = | grfar ma g1

CT,

C4 3 WUE ZIRT I-ITAT AT S 1T <hIoT R T 82
Ans X' 1 56.2°

X 2.36.8°
o 372
X 4144

Question ID : 54592712639

Q.13 = far T gvs A T gwa & faf = i R gas Rafia T i ==l a9t 6 dar ot gafar
gl




Ans

70 A

E

50
40
30 1
20 1
10 A

a5 Y FEA

&

[l

D6

1

Tt =T # MemeR? ool s it o1 T Far 8?2

/X 1.313
/X 2.283
/X 3.293
of 4303

Question ID : 54592712642

Q.14 Teh RIST F ®lv1 3 : 7 : 8 & Irgura A &1 Ryt o1 G o<1 o1 =7 87

Ans

K170
W 2.80°
/X 3.60°
X 4.90°

Question ID : 54592712625

Q.15 4 fag g @137 uTw Ues AEA & 8 A & Ay U R @ ueum A arelt 3491 i T w6t

Ans

Zarfar g1

as
51

68882

¥

10 1

it #1 g

=

53

57 61

55
43

47

o

D1 D2 D3 D4 DS D6 D7 D8

f&1 D6 & oI areft ¥emfeat i T, Rq @ ST areft enfeal i siaa T @ fohaft o

&
/X 1.11.625
75 2.7.625
of 35625
/X 4.9.625

Question ID : 54592712643




Q.16 = far war g= R g 2ieew | fafR=m 31 A a1z A T ot gafar g1 v ARt drdH
TSI hY HEAT i AEH & FeT aTShl o) HE&AT & ufderd & w9 F garfar w81

=

af ardert it rer T=AT 4400 &, @t AT 71 R ArSR] i T gR T hi ardept R e d fhat
9 8?

Ans X" 1136
X 2.126
/X 3.156
o 2176

Question ID : 54592712640

Q.17 AT aEeRI X, Y a1 Z 3 g AR g fram X F P Y S Rda s dfia g s
T g auT Y 1 Fder Z & Fder o1 9r 7 @1 af adf & ofd ur et 1 13200 FUB @, &t Y o
AT o e @ 87

Ans  off 1 4800 z7d
75 2.3600 30
/5 3.5200 30
#< 4.5400 3@

Question ID : 54592712626

Q.18 A, B 9T C fetaRr Uk vl ot a1iem, 4 T & qRT &R Hehet &1 B aUT C st Ueh o oh1 3/10, 4
o1 & qRT R Fehel &1 A S1helT YRT Rt ot et H fovarT T @m?

Ans o<1 24
o 2. 20fF
X 3. 10R=
75 4157

Question ID : 54592712635

Q19 e e T el qudig aTAhel (243/8) &AL §1 e
T TR 4T £7?

Ans

729 -

X 2 @ =g =1
64




.. 512 ;
X 3 - A,

- 1000
S — A
x 343 5

Question ID : 54592712637

Q.20 A & 7 aferert AR & 10 &=t & AT g 2eR &1 araw= garfdt @1

o argA™ (°C #)
Dl 40

D2 41

D3 43

D4 42

D5 44

D6 40

D7 39

D3 375

D9 34.5
D10 44

ufafes g &1 sitad araa= @ @2

Ans X" 1.325°C

o 2. 405°C
/X 3.36.5°C
75 4.445C

Question ID : 54592712641

Section : General English1

Q.1 Improve the bracketed part of the sentence.

They met a boy (carry) a basket of fruits.
Ans ( 1. carrying

x 2. carries

x 3. No Improvement

x 4. carried

Question ID : 54592712654

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He is willing, unable.

Ans X1 so
o 2. yet
< 3.up
75 4. why

Question ID : 54592712661




L

Q.3 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

We want men like him.

Ans X" 1 much

x 2. any
X 3. most
J 4. more

[ Question ID : 54592712656

Q.4 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: besides these, a blacksmith

Q: had sent models of an aeroplane
R: which were highly appreciated
S: and an anti-aircraft gun

Ans X" 1 PQRS
75 2.QsrRP
o 3.PQsr
75 4.PRSQ

Question ID : 54592712664

Q.5 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Sheisa relative.

Ans X 1 next
X 2.s0
x 3. needs
o 4 near

Question ID : 54592712659

Q.6 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences that form a coherent paragraph.

P: and a fire was lit

Q: radha was made

R: side of the bridegroom
S: to sit on the right

Ans X" 1.QSPR
o 2. asrpP
/5 3.SRQP
75 4.PQRS

Question ID : 54592712663

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Unless you do not (1) work hard (2) / you will fail (3) /. No error (4)




Ans x1,2
X 2.4
W3
X 4.3

Question ID : 54592712647

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Can you (1) / please pass mine (2) / a glass of water (3) /? No error (4)

Ans 711
K24
W32
X 43

Question ID : 54592712646

Q.9 Improve the bracketed part of the sentence.

I shall (have) plenty of time tomorrow.
Ans X1 were

x 2. has
75 3.had

J 4. No Improvement

Question ID : 54592712651

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Read it
Ans x 1. why

X 2. like
J 3. over
X 4. next

carefully.

Question ID : 54592712657

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He is (1) / married with (2) / his cousin (3) /. No error (4)

Ans X" 1.3
K 2.4
v &)
75 4

Question ID : 54592712648

Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose the




correct alternative.

The next train will

Ans B 1 Jeft
/X 2. leaving
o 3. leave
/X 4. leaves

at 1:00 pm.

Question ID : 54592712655

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

This edition is (1) / very difference to (2) / the other (3) /. No error (4)

Ans X" 1.3
K 2.4
W32
K4

Question ID : 54592712649

Q.14 Improve the bracketed part of the sentence.

She jumped off the bus while it (moved).
Ans X" 1. are moving

J 2. was moving

x 3. No Improvement

X 4. moving

Question ID : 54592712652

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Do not start

Ans  of 1 il
< 2. for
x 3. since
x 4. more

you hear from me.

Question ID : 54592712662

Q.16 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

laskitas a
Ans x 1. while

J 2. right
X 3. round
x 4. such

[ Question ID : 54592712658




L

Q.17 A sentence has been given with a blank to be filled with an appropriate word. Choose the

correct alternative.

The wiser she is, the
Ans 5" 1 best

J 2. better
x 3. good
75 4.bad

[ Question ID : 54592712660

Q.18 Improve the bracketed part of the sentence.

When we reached the cinema, the film (have started).

Ans X" 1. has already started
x 2. is started
x 3. No Improvement

J 4. had already started

Question ID : 54592712653

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No

error'.

She had no other option (1) / but than of (2) / collecting flowers (3) /. No error (4)

Ans  of 12
X 2.3
X 3.4
54

Question ID : 54592712645

Q.20 Improve the bracketed part of the sentence.

I have been living here (since) months.
Ans x 1. No Improvement

X 2.in
7< 3. with
J 4. for

Question ID : 54592712650

Section : General English2

Q.1 Choose the word that is opposite in meaning to the given word.

Regret
Ans x 1. Appreciate

x 2. Ruthlessness




x 3. Praise
J 4. Remorse

Question ID : 54592712666

Q.2 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Every inch

Ans X" 1. The skill of oratory
75 2. To look gloomy
( 3. Completely
x 4. Honesty

Question ID : 54592712675

Q.3 Choose the word that can substitute the given sentence.

Able to do many different things
Ans J 1. Versatile

x 2. Master
x 3. Naive

x 4. Perfectionist

Question ID : 54592712679

Q.4 Choose the word that can substitute the given sentence.

One extremely fond of one’s wife
Ans J 1. Uxorious

x 2. Misogynist
X 3. Philanderer
x 4. Uxoricide

Question ID : 54592712678

Q.5 Choose the word that means the same as the given word.

Tarnish
Ans X" 1 Praise

x 2. Honour
o 3. stain
x 4. Assist

Question ID : 54592712668

Q.6 In the following question, out of the four given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Child’s play
Ans J 1. A very easy task




x 2. To die while on duty
X 3. A fantastic story

x 4. To make a poor impression

Question ID : 54592712674

Q.7 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans x 1. Personel

x 2. Parsonel

J 3. Personnel
x 4. Persnal

Question ID : 54592712673

Q.8 Choose the word that is opposite in meaning to the given word.

Linger
Ans X 1 Remain

J 2. Forge

/X 3.stay
75 4. put

Question ID : 54592712669

Q.9 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: one dares nothing, gains nothing.

Q: courage and bravery are admirable qualities

R: but courage and bravery should be exercised with discretion and wisdom.
S: a coward can do nothing; he can achieve nothing.

Ans X" 1 QSRP
W 2.aPsR
/5 3.PQRS
75 4.QrPS

Question ID : 54592712665

Q.10 Choose the word that means the same as the given word.

Miserable
Ans X" 1. Allowed

X 2. Contended
x 3. Accepted
J 4. Dejected

Question ID : 54592712667

Q.11 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans




x 1. Preacede
X 2. Preceade

( 3. Precede

X 4. Preceede

Question ID : 54592712671

Q.12 Choose the word that means the same as the given word.

Plentiful
Ans X" 1 Scarce

J 2. Ample
x 3. Less
x 4. Sparse

Question ID : 54592712670

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To see eye to eye
Ans X" 1. Just dealing

x 2. Ineffective remedy

J 3. To agree

X 4. To flatter

Question ID : 54592712676

Q.14 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans  off 1. Occasionally
x 2. Occassionally
x 3. Occassionaly
x 4. Occasionaly

Question ID : 54592712672

Q.15 Choose the word that can substitute the given sentence.

That which can be seen through
Ans x 1. Translucent

x 2. Opaque
X 3. Reflective

J 4. Transparent

Question ID : 54592712677

Comprehension:

Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor.




Only paltry sums are available for excavating and even less is available for publishing the
results and preserving sites once excavated. Yet archaeologists deal with priceless objects
every day. Second, there is the problem of illegal excavation, resulting in museum quality
pieces being sold to the highest bidder. | would like to make an outrageous suggestion that
would at one stroke provide funds for archaeology and reduce the amount of illegal digging. |
would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to
acquire knowledge or money. Moreover, ancient artifacts are part of our global cultural
heritage, which should be available for all to appreciate, not sold to the highest bidder. Sell
nothing that has unique artistic merit or scientific value. But, you might reply, everything that
comes out of the ground has a scientific value. Theoretically, you may be correct in claiming
that every artifact has a potential scientific value. The basement of museums is simply not
large enough to store the artifacts that are likely to be discovered in the future. There is not
enough money even to catalogue the finds, as a result, they cannot be found again and
become as inaccessible as if they had never been discovered. Indeed, with the help of a
computer. some artifacts could be more accessible than are the pieces stored in bulging
museum basements. Prior to sale, each could be photographed and the list of the purchasers
could be maintained on the computer. A purchaser could even be required to agree to return
the piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the
open market. But the demand for the clandestine product would be substantially reduced.
Who would want an unmarked pot, when another was available, whose provenance was
known and that was dated stratigraphically by the professional archeologist, who excavated
it?

SubQuestion No : 16

Q.16 Which of the following is mentioned in the passage as a disadvantage of storing artifacts in
museum basements?

Ans x 1. Such artifacts are often damaged by variations in temperature and humidity
x 2. Museum officials rarely allow scholars access to such artifacts
x 3. Space that could be better used for display is taken up for storage

\_I" 4. There is not enough money to catalogue them and as a result they become
inaccessible as if they had never been discovered

Question ID : 54592712682

Comprehension:
Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor.
Only paltry sums are available for excavating and even less is available for publishing the
results and preserving sites once excavated. Yet archaeologists deal with priceless objects
every day. Second, there is the problem of illegal excavation, resulting in museum quality
pieces being sold to the highest bidder. | would like to make an outrageous suggestion that
would at one stroke provide funds for archaeology and reduce the amount of illegal digging. |
would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to
acquire knowledge or money. Moreover, ancient artifacts are part of our global cultural
heritage, which should be available for all to appreciate, not sold to the highest bidder. Sell
nothing that has unique artistic merit or scientific value. But, you might reply, everything that
comes out of the ground has a scientific value. Theoretically, you may be correct in claiming
that every artifact has a potential scientific value. The basement of museums is simply not
large enough to store the artifacts that are likely to be discovered in the future. There is not
enough money even to catalogue the finds, as a result, they cannot be found again and
become as inaccessible as if they had never been discovered. Indeed, with the help of a
computer. some artifacts could be more accessible than are the pieces stored in bulging
museum basements. Prior to sale, each could be photographed and the list of the purchasers
could be maintained on the computer. A purchaser could even be required to agree to return
the piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the
open market. But the demand for the clandestine product would be substantially reduced.
Who would want an unmarked pot, when another was available, whose provenance was
known and that was dated stratigraphically by the professional archeologist, who excavated
it?

SubQuestion No : 17

Q.17 Which word means the same as excavate?
Ans X 1 Raise

{ 2. Uncover




25 3.Fill

K 4. Produce

Question ID : 54592712681

Comprehension:
Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor.
Only paltry sums are available for excavating and even less is available for publishing the
results and preserving sites once excavated. Yet archaeologists deal with priceless objects
every day. Second, there is the problem of illegal excavation, resulting in museum quality
pieces being sold to the highest bidder. | would like to make an outrageous suggestion that
would at one stroke provide funds for archaeology and reduce the amount of illegal digging. |
would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to
acquire knowledge or money. Moreover, ancient artifacts are part of our global cultural
heritage, which should be available for all to appreciate, not sold to the highest bidder. Sell
nothing that has unique artistic merit or scientific value. But, you might reply, everything that
comes out of the ground has a scientific value. Theoretically, you may be correct in claiming
that every artifact has a potential scientific value. The basement of museums is simply not
large enough to store the artifacts that are likely to be discovered in the future. There is not
enough money even to catalogue the finds, as a result, they cannot be found again and
become as inaccessible as if they had never been discovered. Indeed, with the help of a
computer. some artifacts could be more accessible than are the pieces stored in bulging
museum basements. Prior to sale, each could be photographed and the list of the purchasers
could be maintained on the computer. A purchaser could even be required to agree to return
the piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the
open market. But the demand for the clandestine product would be substantially reduced.
Who would want an unmarked pot, when another was available, whose provenance was
known and that was dated stratigraphically by the professional archeologist, who excavated
it?

SubQuestion No : 18
Q.18 The primary purpose of the passage is to propose:

Ans x 1. An alternative to museum display of artifacts
x 2. A new system for cataloguing duplicate artifacts
x 3. A way to distinguish artifacts a scientific value from those that have no such value

"v 4. A way to curb illegal digging while benefitting the archaeological profession

Question ID : 54592712685

Comprehension:
Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor.
Only paltry sums are available for excavating and even less is available for publishing the
results and preserving sites once excavated. Yet archaeologists deal with priceless objects
every day. Second, there is the problem of illegal excavation, resulting in museum quality
pieces being sold to the highest bidder. | would like to make an outrageous suggestion that
would at one stroke provide funds for archaeology and reduce the amount of illegal digging. |
would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to
acquire knowledge or money. Moreover, ancient artifacts are part of our global cultural
heritage, which should be available for all to appreciate, not sold to the highest bidder. Sell
nothing that has unique artistic merit or scientific value. But, you might reply, everything that
comes out of the ground has a scientific value. Theoretically, you may be correct in claiming
that every artifact has a potential scientific value. The basement of museums is simply not
large enough to store the artifacts that are likely to be discovered in the future. There is not
enough money even to catalogue the finds, as a result, they cannot be found again and
become as inaccessible as if they had never been discovered. Indeed, with the help of a
computer. some artifacts could be more accessible than are the pieces stored in bulging
museum basements. Prior to sale, each could be photographed and the list of the purchasers
could be maintained on the computer. A purchaser could even be required to agree to return
the piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the




open market. But the demand for the clandestine product would be substantially reduced.
Who would want an unmarked pot, when another was available, whose provenance was
known and that was dated stratigraphically by the professional archeologist, who excavated
it?

SubQuestion No : 19
Q.19 Which of the following statements is NOT true about duplicate artifacts?

Ans x 1. Such artifacts seldom have scientific value.
x 2. A market for such artifacts already exists.
J 3. No option is correct.

x 4. There is likely to be a continuous supply of such artifacts.

Question ID : 54592712683

Comprehension:
Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor.
Only paltry sums are available for excavating and even less is available for publishing the
results and preserving sites once excavated. Yet archaeologists deal with priceless objects
every day. Second, there is the problem of illegal excavation, resulting in museum quality
pieces being sold to the highest bidder. | would like to make an outrageous suggestion that
would at one stroke provide funds for archaeology and reduce the amount of illegal digging. |
would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to
acquire knowledge or money. Moreover, ancient artifacts are part of our global cultural
heritage, which should be available for all to appreciate, not sold to the highest bidder. Sell
nothing that has unique artistic merit or scientific value. But, you might reply, everything that
comes out of the ground has a scientific value. Theoretically, you may be correct in claiming
that every artifact has a potential scientific value. The basement of museums is simply not
large enough to store the artifacts that are likely to be discovered in the future. There is not
enough money even to catalogue the finds, as a result, they cannot be found again and
become as inaccessible as if they had never been discovered. Indeed, with the help of a
computer. some artifacts could be more accessible than are the pieces stored in bulging
museum basements. Prior to sale, each could be photographed and the list of the purchasers
could be maintained on the computer. A purchaser could even be required to agree to return
the piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the
open market. But the demand for the clandestine product would be substantially reduced.
Who would want an unmarked pot, when another was available, whose provenance was
known and that was dated stratigraphically by the professional archeologist, who excavated
it?

SubQuestion No : 20

Q.20 The author anticipates which of the following initial objections to the adoption of his
proposal?

Ans x 1. An over supply of salable artifacts will result and the demand for them will fall
x 2. lllegal excavators will have an even larger supply of artifacts for resale

« 3. Artifacts that would have been displayed in public places will be sold to private
collectors

X 4. Museum official will become unwilling to store artifacts

Question ID : 54592712684
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Question ID : 54592712707

Comprehension:

TETRT <t eATFYdh Ue aT Udeh U H IR fadhent & @ el fadhed T
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Comprehension:

TEIRT e EATFYdeh Ue aT U U H IR facheat # @ Tgl fadhed g1
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3T &) TR s, Hifta, gEdch St SoT I i off; 319 ek 3T 38T § | &7 e &t 99-%d R uge
hr et 7 STt &1 T 8, ST gt a1 heTheR $€ Whel S Uchgah] Whel UgdH Y €18 % 8l STt &1
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Question ID : 54592712724

Comprehension:

TEIRT h EATFYdeh Ue aT U U H IR fadheat # @ wgl fadhed g1

T oI fopet g forgmT-uer s fam &1 & oter a1 T, 8t &is orers 3 oy ot ot gwfl-urar 2 faermera &
o1 | IR s, Hifta, gEdch St SaT I i off; 31a ek 3T 38T § | 7 Fed 8t 99-%d W uge
hY STt 7 STt &1 T 8, ST gt a1 heTheR $€ Whel 99 Uhgeh] Whel UgdH Y €18 Y% &l STt &1
AR dt 99 Ueh § g o fawg Ugld S8y STeaTueh-STeatiUentsi i aTd god ssgl Bi-8ie T ok
Tford, dhegeR-urgd, uataeo, &), siilst, famm, Afaes e, amnfSies a foam 3! =i o g o &
37 frr! WemT-ghe T, ARG, WHT-UHT, T9 UgTs & a3 dol &d T 81 8T 9T <1 fderera & uaer
ar g ofiR 1240t FRa-ahed 18 I T g1 STTaT &1 I8 e 39k IR 90+ ot fATTet Sira 81 ahrer faemera
18I A A & A B
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Comprehension:
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Question ID : 54592712723

Comprehension:

TEITRT ht eATYdh Ue dT Udeh U H IR fachent & @ el fadhed T

T 5 RraR g foram-ueT a1 R 21 & oter & o1, a8 &S orgrs 3 v ol at wet-uray 3 Rremery &
1o | TRY ST, Shifua, qadh Sit IoTHT R et oft; o1a aeh 3aT 28T § | i 5 &t s9-% iy R uga
&Y STeEl 719 ST 1 TTHT 81, ST 81 9T hThaR 38 el a4 Thasdhy Whel Ugd ol 31g I 81 ST 3
fORR dt 99 Uk © S Ueh fawg Ugld S8y SreaTyeh-sreatfientsti Y ad goa Seel Bi-sie g ok
TfOrd, ShegeR-arsy, gatawor, g4, siist, fagm, Afde e, amfoie a famm -3w! &t og g ord &
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